pri ori ty	ITEM	DESCRIPTION Note: Quantities based on three Command Posts. Updated 04/13/2021	Desired Qty	Donate QTY	Buy Qty	Unit Price Incl tax	Total	Sale price
а	Generator	Gasoline. 5000W. Donated by Maria Merritt. Repaired by B VanDatta. No tax. Per ea. (Replaces 1ea stolen)	1	1	0	400.00	400.00	\$300.00
а	Canopy, Pop-up	10' X 10'. Straight leg. Command post usage. \$119.99 ea + 10.80 (9%) tax = 130.79. Per ea.	3	0	3	130.79	392.37	\$100.00
а	Generator	Gasoline. 5000W. Wheel base fabricated by Bill VanDatta. No tax. Per ea.	1	0	1	350.00	350.00	Taken
а	Generator	Gasoline. 4000W. Donated by So Bay Amateur Radio Club. Wheel base to be fab by B VanDatta. No tax. Per ea.	1	1	0	350.00	350.00	\$300.00
а	Generator	Gasoline. Item #69728. 3200 rated watts, 4000 max. Wheels instl by Bill VanDatta. Sale price (was \$500) \$299.99 ea + 27.00 tax = 326.99. Per ea. (1ea stolen)	1	0	1	326.99	326.99	Stolen
а	Canopy, Carport	10' x 20' Item #69034. Medical/Triage Provide shelter for victims. Sale price, reg. 199.99. Per ea \$99.99 + 9.00 (9%) tax = 108.99. + cover \$34.99	3	0	3	108.99	326.97	\$100.00
а	Carport Canopy Rolling Storage Bag	Model 15577. Storage bag for 10' x 20' Carport Canopy. Per ea \$34.99 (no tax). (Shipping for three = \$18.99 (see shippping cost)).	3	0	3	34.99	104.97	See Canopy price
а	Shelving	24"x48"x72" 5-shelves. For use in site containers. Per set. \$79.97 ea + 7.20 (8.99%) tax = 87.17.	3	0	3	87.17	261.51	Not for sale yet
а	Folding Cot	Low prome alum name w/ cotton Dacron lablic cover. 75 x 24"x 7". Comes in carrying bag. Wt. 5 lbs. Per ea. \$39.89 ea	6	0	6	43.38	260.28	\$30.00
b	Signs	Entrance signs for Mock Disasters. Purch by J. Mitchell at Alpine Village store. No Tax. Ave price \$29. Per ea	7	0	7	29.00	203.00	Not for Sale
а	Wagon, Panel	Carrying heavy items. Item #69693. Per ea. \$20 off Coupon (reg. \$69.99). \$49.99 + tax.	3	0	3	54.74	164.22	\$40.00
а	Back Packs	"CERT" logo. S&R use. Per ea. \$24.98 + 2.248 (9%) tax = 27.228. (see shipping cost)	6	0	6	27.23	163.37	Part of S&R Backpack
а	Gasoline Cans	5 gal. Command Post Sites Generators. VanDatta donate? Per ea. \$17.99 + 1.62 (9%) tax = 19.61.	8	0	8	19.61	156.88	\$15.00
а	Vest, CERT	CERT Green Mesh w/ CERT FEMA logo printed front & back for CP Admin Team. SOS #CERT245. Sale price. Per ea. \$11.50 ea + 1.035 (9%) tax = 12.535.	12	0	12	12.535	150.42	Part of S&R Backpack

pri ori ty	ITEM	DESCRIPTION Note: Quantities based on three Command Posts. Updated 04/13/2021	Desired Qty	Donate QTY	Buy Qty	Unit Price Incl tax	Total	Sale price
d	First Aid Kits	Triage usage. Tax unknown. Per kit.	3	0	3	49.95	149.85	Make Offer
а	Padlocks	American Lock A706 Solid Steel, keyed alike, for Site Containers (2 per site) door handle and generator chain. Per ea. \$23.00 (no tax) (see shipping cost, combined with American A2500 locks) (1ea stolen)	6	0	6	23.00	138.00	Not for Sale
а	Table, Folding	6 ft. (Additional for CP usage) Per ea. \$44.98 (less 10% veteran discount) ea + tax = \$44.33.	3	0	3	44.33	132.99	\$30.00
а	Triage Tarps	Set of four, 10' X 12'. Minor green, delayed yellow, immed. red, deceased black. \$44.30 Per set. No tax	3	0	3	44.30	132.90	\$30/set
а	Headlamps	Swivel Headlamp, S&R use, 310 Lumens, 2ea per backpack, (\$5.00 off) \$9.99 + .95 tax = 10.94.	12	0	12	10.94	131.28	\$8.00
а	Table, Folding	6 ft. Command post/triage site usage. \$39.98 ea + 3.60 (9%) tax = 43.58. Per ea.	3	0	3	43.58	130.74	\$35.00
а	Chair, Folding	Metal. Command post/triage site usage. \$9.98 ea + .90 (9%) tax = 10.88. Per ea.	12	0	12	10.88	130.56	\$8.00
а	Extension Cord	120 Volt, 80' length w/ triple tap. AWG #12 gauge. Per ea. \$39.88 + 3.59 (9%) tax = 43.47. <mark>(1ea stolen)</mark>	3	0	3	43.47	130.41	\$35.00
а	Padlocks	American Lock A2500 nockey puck, keyed alike, for Site Containers lock box. Per ea. \$40.50 (no tax) (see shipping	3	0	3	40.50	121.50	Not for Sale
а	Vest, Good Qual	Hi-vis orange w/ reflective stripes for S&R. SOS #22381A. Per ea. \$8.95 ea + 9.5% tax = 9.80.	12	0	12	9.800	117.60	
а	Vest, Good Qual	Hi-vis lime green w/ reflective stripes for Medical. SOS #22383A. Per ea. \$8.95 ea + 9.5% tax = 9.80.	12	0	12	9.800	117.60	
а	Radios	American Red Cross Emerg Weather Radio (ARCFR170WXR). AM & FM, NOAA weather 7 channels, 3 LED flashlight. Powered by solar, crank, or DC input (mini- USB), all of which charge the internal Ni-MH battery. Charges USB devices. (USB cable not included). Per ea. No tax. (see shipping - \$7.24) (1ea stolen, 1ea donated by Karen)	3	0	3	34.99	104.97	Not for Sale
а	4-in-1 Emerg Tool	S&R. Water/gas shutoff and prybar. Item #12352. Per ea. \$14.95 ea + 1.42 (9.5%) tax = 16.37.	6	0	6	16.37	98.22	Part of S&R
а	Hand Truck	Comamnd Post use. (reg \$49.99) Per ea. \$29.99 + 2.70 (9%) tax = 32.69.	3	0	3	32.69	98.07	\$30.00
а	Hard Hats	Green "CERT". Item #CERT27. Per ea. \$6.50 ea + .585 (9%) tax = 7.085. (See "CERT Basic Kit" for 6ea more)	13	0	13	7.085	92.11	\$5.00

pri ori ty	ITEM	DESCRIPTION Note: Quantities based on three Command Posts. Updated 04/13/2021	Desired Qty	Donate QTY	Buy Qty	Unit Price Incl tax	Total	Sale price
р	Face Shield (PPE)	Full length, per ea, 8 ea per site = 24, \$3.75 ea +tax = \$4.10 ea.	2	0	2	45.00	90.00	
а	Chair, Folding	Lightweight resin w/ metal legs. ICP usage. Per ea (comes in 4-pack) \$10.163 ea + tax = 11.128.	8	0	8	11.13	89.02	\$8.00
а	Plastic Containers	Stackable 27 gal. \$8.99 ea +.81 (9%) tax = 9.80. Per ea	9	0	9	9.80	88.20	\$8.00
р	Coverals (PPE)	Large, polyspun bond material, per ea, 6 ea per site, 3.99 ea +tax = \$4.39.	18	0	18	4.37	78.66	\$2.00
а	Coveralls	Full body, XL & XXL. One time usage. Item #66348. S&R, Triage. Per ea. \$5.99 + .54 (9%) tax = 6.53.	12	0	12	6.53	78.36	\$5.00
а	CPR Mask	With O2 and hard case. S&R & ICP use, 1ea per backpack & 1ea for ICP. \$7.88 + .75 tax = 8.63.	9	0	9	8.63	77.67	
а	CERT Basic Kit	Basic needs of CERT members.Contains: 1 green CERT hard hat, 1 pair leather gloves, 1 goggles, 1 lime safety vest,	6	0	6	12.54	75.24	
а	Water, Packets	96/4.2 oz, 5 year life, ICP use. Per case. \$24.95 (no tax) New Oct 2016	3	0	3	24.95	74.85	
а	Water, Packets	96/4.2 oz, 5 year life, ICP use. Per case. \$24.95 (no tax) New Feb 2016.	3	0	3	24.95	74.85	
а	Blankets	Emergency disposable, yellow, insulated, 60" x 80". Item #2560. Per ea. \$5.49 ea + .50 (9%) tax = 5.99.	12	0	12	5.99	71.88	
а	Privacy Tent	ICP use changing clothes, etc. Per ea. \$21.99 (no tax, free shipping)	3	0	3	21.99	65.97	
n	Flashlight	LED, per ea, 1 ea per backpack = 6 ea, \$10.00 ea +tax = \$10.95 (needed upgraded light)	6	0	6	10.95	65.70	
р	Gloves, Nitrile (PPE)	Size medium, disposable, box of 100, per box, 1 box per site, \$19.97 box +tax = \$21.87. Vet Discount	3	0	3	21.87	65.61	
а	Vest, Security Logo	Reflective vest for Command Post security. Per ea. \$19.99 + 1.80 (9%) tax = 21.79. (see shipping cost) Conapsible correst term #94111. frame safety. Safe price.	3	0	3	21.79	65.37	
а	Traffic Cones	Collapsible correst term #94111. Trainic safety. Sale price.	6	0	6	10.89	65.34	\$8.00
а	Fire Extinguisher	Type A:B:C Triage sites. Per ea. \$19.97 ea + 1.80 (9%) tax = 21.77. (one stolen, one donated)	3	0	3	21.77	65.31	\$20.00
а	Gasoline	Generators. Per gl. Reimb Phillips. New 04/10/2018	17	0	17	3.799	64.59	
а	Gasoline	Generators. Per gl. Reimb Phillips. New 04/08/2018	17	0	17	3.759	63.90	

pri ori ty	ITEM	DESCRIPTION Note: Quantities based on three Command Posts. Updated 04/13/2021	Desired Qty	Donate QTY	Buy Qty	Unit Price Incl tax	Total	Sale price
а	Gasoline	Generators. Per gl. Reimb Phillips. New 04/17/2018	17	0	16.3	3.859	62.94	
а	Extension Cord	120 Volt, 100 length w/ triple tap. AvvG #12 gauge. Per ea. \$55.99 (reg 69.99) + 5.04 (9%) tax = 61.03. (Replaces 1ea	1	0	1	61.03	61.03	\$50.00
а	Gasoline	Generators. Tax incl. Per gal. (12/30/2014)	17	0	17	3.579	60.84	
а	Plastic Containers	Clear stackable 13.5 Qt. 8 containers per pkg. \$18.49 per pkg + 1.66 (9%) tax = 20.15. Per pkg.	3	0	3	20.15	60.45	
а	Gasoline	Generators. Per gal. Reimburse Phillips. New 03/2018	17	0	17.9	3.36	60.14	
b	Printing Charge	Printing of 515 sheets for CERT Mtg, Mock Disaster & Storage Units. \$60.16 = 5.72 (tax) = 65.88. Per job.	1	0	1	65.88	45.66	
а	Bandage Israeli Dressing	Battle Dressing Compression Bandage for 1st aid and S&R. Per ea. 9.18+.83 (9%) tax = 10.01. Free Shipping.	6	0	6	10.01	60.06	
d	2-Way Radios	Motorola Talkabout model #MR351R. For com within the Woods. Tax unknown. S/N RR35WKH2NTT, RR35WKH2NTV. Per pair.	1	0	1	59.95	59.95	Part of S&R Backpack
d	2-Way Radios		1	0	1	59.95	59.95	
d	2-Way Radios	Woordona Trainkabout model #MR354/KM Polecom within the Woods. Tax unknown. S/N RR35WKP0P0Z, DR25W/KP0NX// Drain actin	1	0	1	59.95	59.95	PåR or S&R
а	2-Way Radios	Motorola Talkabout model #MR351R. For com within the Woods. Per pair. Need one extra pair for Com focal point (VanDatta). \$54.99 pair + 4.95 (9%) tax = 59.94. Per pr.	1	0	1	59.94	59.94	Part of S&R Backpack
а	Gasoline	Generators. Tax incl. Per gal. (12/4/2014)	17	0	17	3.479	59.17	
р	Face Mask (PPE)	3-ply w/ ear loop, blue, disposable, box of 50, per box, 1 box per site, \$17.98 box +tax = \$19.69. Vet Discount	3	0	3	19.69	59.07	
а	Tool Bag	15". S&R use. Per ea. \$8.99 + .81 (9%) tax = 9.80. (2ea stolen) (Tool bags replaced by back packs. Use tool bags as necessary.)	6	0	6	9.80	58.80	\$5.00
а	2-Way Radios	Wootorola Talkabout model #IVIR350R. For com within the Woods. S/N WQT00MTS, WQT00MTT. Per pair. \$50.82 (reg	1	0	1	55.39	55.39	Part of S&R
а	2-Way Radios		1	0	1	55.39	55.39	

pri ori ty	ITEM	DESCRIPTION Note: Quantities based on three Command Posts. Updated 04/13/2021	Desired Qty	Donate QTY	Buy Qty	Unit Price Incl tax	Total	Sale price
а	2-Way Radios		1	0	1	55.39	55.39	
а	Vest, CERT	CERT cloth vest for IPC & Staff. "CERT" on the back. Per ea. Sale price \$5.00 ea + .45 (9%) tax = 5.45.	10	0	10	5.450	54.50	Not for Sale
а	Gasoline	Generators. Per gal. Reimburse Phillips. New 03/2018	17	0	17	3.16	53.72	
а	Gasoline	Generators. Per gal. Reimburse Phillips. New 03/2018	17	0	17	3.16	53.70	
b	Room Charge	LA Rec & Parks 11/14/2018. Meeting room for CERT meeting numerous attendees \$50.00.	1	0	1	50.00	50.00	
а	Batteries	AAA Cen for working furthing has finght. Fkg of 52. Fer pkg.	3	0	3	16.34	49.02	
а	Batteries	D Cell for flashlights/megaphone. Pkg of 14. Per pkg. \$14.89 pkg + 1.34 (9%) tax = 16.23. <mark>New Oct. 2016</mark>	3	0	3	16.23	48.69	
а	Gasoline	Generators. Per gal. Reimburse Phillips. (03/2017)	17	0	17	2.80	47.59	
а	Hard Hats	Green "CERT". Item #CERT27. Per ea. \$6.95 ea + .66 (9.5%) tax = 7.61.	6	0	6	7.61	45.66	\$5.00
b	Printing Charge	Staples 11/15/2018. Printing for CERT meeting numerous attendees \$41.60 + 3.95 tax = 45.55.	1	0	1	45.55	45.55	
а	Megaphone	10W (300 yards) w/siren, 6 D-cell batteries included. (Swap meet) No tax. Per ea. (1ea stolen)	3	0	3	15.00	45.00	\$15.00
b	Printing Charge	Printing 27 sheets for CERT Mtg. 8/9/2019. \$44.49 Donated by Phillips (invoice not proessed)	1	1	0	44.49	44.49	
b	Smoke Detector	2 ea per box \$39.88 + 3.59 (9%) tax = 43.47. Per box. Raffle prize at 2016 Picnic.	1	0	1	43.47	43.47	
b	Printing Charge	Printing113 sheets for CERT Mtg. \$38.98 + 3.70 (tax) = 42.68. Per job.	1	0	1	42.68	42.68	
а	Batteries	ˈᠠᡘ᠊᠇ᠣᠡ᠊᠌᠌ᡔ-way radios to replace rechargeable. Pkg of 40 (reg Քຟ໌ົນເ€ຣໂເຢົາເ ໜ'ຫາເ⊂ີເວີເວີເວີເວັບກາສາມຢ້າງເຊິ່ກີດໃຊີ. 14ຍາ ea. sale	3	0	3	14.22	42.67	
а	Worklight	$r_{100} = (12.00 \text{ co} + 1.160 (0.0)) + c_{10} = 14.160$	3	0	3	14.159	42.48	\$10.00
а	Hard Hat	Yellow. S&R. Per ea. \$6.48 ea + .583 (9%) tax = 7.085.	6	0	6	7.063	42.38	\$5.00
а	Gasoline	Generators. Tax incl. Per gal. (02/10/2016)	18	0	18	2.299	41.38	
а	Gasoline	Generators. Tax incl. Per gal. (11/30/2014)	12	0	12	3.439	41.30	
а	Extension Cord	Connect hot plates. 50' length. #16 gauge Outdoor. Per ea. (20% off) 11.99 ea + 1.11 (9.25%) tax = 13.10.	3	0	3	13.10	39.30	\$10.00
а	First Aid Kit, S&R	Kit designed for S&R backpacks. Per kit. \$5.95 + .535 (9%) tax = 6.485. (see shipping cost)	6	0	6	6.49	38.91	

pri ori ty	ITEM	DESCRIPTION Note: Quantities based on three Command Posts. Updated 04/13/2021	Desired Qty	Donate QTY	Buy Qty	Unit Price Incl tax	Total	Sale price
а	Paracord	Lime/Orange, 50', SOS #221093, S&R use, 1ea per backpack, \$5.88 + .56 tax = 6.44.	6	0	6	6.44	38.64	
а	CERT Field Operating Cuides	FEMA reference into to prepare for and reference during any emergency. Item #121307. Incident Cmdr use. Per ea.	3	0	3	12.54	37.62	
а	Batteries	มีมี 5.41 โดย 2-ใหม่ง หมือให้ & เกลอูโกยิโต workiigni/inashiigni. Pkg of 6. Per pkg. \$5.47 pkg + .49 (9%) tax = 5.96. (12 batts กระไขอน 10 รลากกระไว้อนนา ราเย generator. Per ea. (กอ เลม	6	0	6	5.96	35.76	
а	Battery, Wet Cell	from even meet VenDette) Deplecement Oct 2016	1	0	1	35.00	35.00	
а	Bandage, Elastic Roll	Grafco, 3"wide x 5yd long, for 1st aid and S&R. Per box of 10 rolls. \$11.49 no tax. Free Shipping.	3	0	3	11.49	34.47	
b	Shipping Cost	SOS 11/30/13 online order. Per ea. No tax.	1	0	1	33.15	33.15	
а	Tea Kettle	For boiling water. Per ea. \$10.00 + .925 (9.25%) tax = 10.925.	3	0	3	10.93	32.78	\$8.00
а	Gasoline Cans	2 gal. Command Post Sites Generators. Per ea. \$14.99 + 1.35 (9%) tax = 16.34.	2	0	2	16.34	32.68	
а	Hot Plate	Electric burner for boiling water. Per ea. \$9.96 + .92 (9.25%) tax = 10.88.	3	0	3	10.88	32.64	\$8.00
а	Clip Boards	Command Post Sites. \$1.99 ea + .18 (9%) tax = 1.09. Per ea.	15	0	15	2.17	32.55	\$2.00
а	Earthquake Tool	Gas Tum-Off Tool. S&R. Per ea. \$4.94 ea + .45 (9%) tax = 5.39.	6	0	6	5.39	32.34	Part of S&R Backback
а	Splint. Acti	Flat, moldable splint. Item #45692. Per ea. \$9.50 ea + 1.00 (9.5%) tax = 10.50.	3	0	3	10.50	31.50	\$8.00
b	Meeting Charge Water	Water bottles for CERT Mtg. 6/11/2019. \$31.11 Donated by Phillips (invoice not proessed)	1	1	0	31.11	31.11	
а	Surgical Tape	"WET PRUF" Waterproof tape for 1st aid. Per box of 6 rolls. \$30.09 no tax. Free Shipping.	1	0	1	30.09	30.09	
а	Battery, Wet Cell	12 volt for starting South Site generator. (swap meet VanDatta) Per ea. 11/17/16 No Good - Replaced	1	0	1	30.00	30.00	
а	Shovel, Round Point	ICP or S&R Use. Per ea. 3ea @ \$10.00.	3	0	3	10.00	30.00	\$5.00
b	Printing Charge	Philling Sheets for CERT Wild, 0/0/2019, \$29.05 Donated by	1	1	0	29.83	29.83	
а	Water Bags	Collapsible 2 Gal Water Container. (Jim 10% discount). Per ea. No tax.	6	0	6	4.95	29.70	
а	Rain Ponchos	Emergency-type. (Jim 10% discount). Per ea. No tax.	30	0	30	0.99	29.70	

pri ori ty	ITEM	DESCRIPTION Note: Quantities based on three Command Posts. Updated 04/13/2021	Desired Qty	Donate QTY	Buy Qty	Unit Price Incl tax	Total	Sale price
а	Triage Tape Set	Includes 4 rolls of triage tape minor green, delayed yellow, immediate red, and deceased black. Item #23362. Per 4	3	0	3	9.50	28.50	
b	Shipping Cost	Taylor Lock for American A706 and A2500 Padlocks	1	0	1	28.26	28.26	Not for Sale
а	Fire Axe	For S&R. Ave price \$9.333. Per ea. (no tax from swap meet Van Datta)	3	0	3	9.33	28.00	\$5.00
b	Inkjet Refill	Black HP 74. \$24.99 + 2.25 (9%) tax = 27.24. Per ea.	1	0	1	27.24	27.24	
а	Mover's Blanket	80"x72" Haul-Master - Item #66537. Triage usage. Coupon price. Per ea. \$4.99 + .45 (9%) tax = 5.44.	5	0	5	5.44	27.20	\$5.00
а	Bags, Waste	Red infectious waste bags. 10 gal. 25 pack. S&R use, 1ea per backpack, \$3.98 ea + .38 tax = 4.36 .	6	0	6	4.36	26.16	
а	Toilet Bags	Red infectious waste bags. 25 pack. Item #33083. Per pack. \$3.98 ea + .36 (9%) tax = .86.	6	0	6	4.34	26.04	
р	Wipes, Hand (PPE)	Antibacteria, 7x7", pkg of 25, per pkg, 1 pkg per backpack = 6 pkgs, \$3.88 pkg +tax = \$4.25. Vet Discount	6	0	6	4.25	25.50	
а	Blankets, Emergency	Polystirene mylar. Waterproof and windproof. 54" x 84". S&R & ICP use. Per ea. \$1.29 ea + (9.5%) tax = 1.413.	18	0	18	1.413	25.43	
а	Water, Bottled	24/.5 liter bottles per case. Per case. \$2.77 case + .25 (9%) tax + 1.20 deposit = 4.22. Replaced, expired	6	0	6	4.22	25.32	
а	Battery, Wet Cell	12 volt for starting South site generator. (swap meet VanDatta) Per ea. <mark>3/5/16 No Good - Replaced</mark>	1	0	1	25.00	25.00	
а	Pry Bar, 5 feet	Heavy 5 ft for S&R. Ave price \$8.333. Per ea. (no tax from swap meet Van Datta)	3	0	3	8.33	25.00	\$5.00
а	Shovel, Square Point	ICP or S&R Use. Per ea. 2ea @ \$10.00. 1ea @ \$5.00. Ave Price 8.33	3	0	3	8.33	25.00	\$5.00
а	Vest, Cheap Qual	Hi-vis orange for S&R. Tie closures. Per ea. \$.95 ea + tax = 1.036. Replaced by better quality 07/18.	24	0	24	1.036	24.86	
b	Printing Charge	Staples 10/04/2018. Printing for CERT meeting numerous attendees \$22.40 + 2.13 tax = 24.53.	1	0	1	24.53	24.53	
а	Water, Bottled	24/.5 liter bottles. Shelf life relace. Per case. \$2.88 + 1.20 CRV deposit = 4.08. (no tax) Replaced 03/2016	6	0	6	4.08	24.48	
а	Batteries	D Cell for flashlights. Pkg of 4. Per pkg. \$7.47 pkg + .67 (9%) tax = 8.14.	3	0	3	8.14	24.42	
а	Tool Box	For storing/carrying 2 ea two-way radios at Section leader	3	0	3	8.09	24.27	\$6.00
а	Chain	3/8" 5400 lb test link chain to lock generators, 24" long.	3	0	3	8.00	24.00	Not for
а	Nitrile Gloves	5 Mil Nitrile Gloves Powder-Free. Box of 100. Item #68498 5 Mil Nitrile Gloves Powder-Free. Box of 100. Item #68497	3	0	3	7.95	23.85	
а	Nitrile Gloves	(large). Triage use. Sale price. Per box. \$7.29 + .66 (9%) tax	3	0	3	7.95	23.85	

pri ori ty	ITEM	DESCRIPTION Note: Quantities based on three Command Posts. Updated 04/13/2021	Desired Qty	Donate QTY	Buy Qty	Unit Price Incl tax	Total	Sale price
а	Padlock	American Lock A706 Solid Steel, keyed alike, for Site Containers door handle. Per ea. \$23.00 (no tax) (see	1	0	1	23.00	23.00	
а	Container		3	0	3	7.64	22.91	
а	Gasoline Stabilizer	"Stabil" 10 oz. bottle. Command Post Sites Generators. Per bottle. \$6.98 btl + .63 (9%) tax = 7.61.	3	0	3	7.61	22.83	
а	Gasoline	Generators. Tax incl. Per gal. (10/16/2014)	6	0	6	3.69	22.16	
а	2-Way Radio Rechargeable batteries	Motorola NICD (#MO53615) replacements for 2-way radios S/N RR35WKP0P0Z, RR35WKP0NXV (South Site). No tax. (See shipping cost) Per ea.	2	0	2	11.02	22.04	Part of S&R Backpack
b	Stand up Sign Holders	For Picnic. Holders for 8x10 CERT signs. 4 ea in box. \$20.00 per box + 1.85 (9.26%) tax = 21.85. Per box.	1	0	1	21.85	21.85	
а	Padlocks	Triage Sites Containers keyed alike. 3 locks per set. \$19.98 per set + 1.80 (9%) tax = 21.78. Per set. (1ea lock stolen, others no good post burglary)	1	0	1	21.78	21.78	
а	Knife, Locking	Folding, lock back, 5 inch. S&R. Sale price. Per set of 3. \$9.98+.90 (9%) tax = 10.88. (2ea knives each site)	2	0	2	10.88	21.76	
а	Water Main Curb Key	ICP/S&R. 28 inch water main shutoff. Per ea. 10% Veteran discount. \$7.19 ea.	3	0	3	7.19	21.57	Part of S&R Racknack
а	Plastic Container	Clear stackable 13.5 Qt. 8 containers per pkg. \$18.69 per pkg + 1.68 (9%) tax = 20.37. Per pkg.	1	0	1	20.37	20.37	
b	Shipping Cost	Tarps Direct Triage Tarps. 2/7/17 online. Per ea. No tax	1	0	1	20.00	20.00	
а	Sledge Hammer	8 pound for S&R. Ave price \$6.666. Per ea. (no tax from swap meet Van Datta)	3	0	3	6.67	20.00	\$5.00
а	Tool Bag	15". S&R use. Per ea. 1 ea (20% coupon) @ \$7.99 + tax; 1 ea (no coupon) @ \$9.99 + tax = 19.60 total. (Replaces 2ea	2	0	2	9.80 Avg	19.60	Part of S&R
а	Knife, Locking	Folding, lock back, 5 inch. Item #90802. ICP setup. Sale price. Per ea. \$5.99 + .54 (9%) tax = 6.53.	3	0	3	6.53	19.59	Part of S&R
а	Duct Tape	2"x50yd. Item #68686. Triage site. Per roll. \$5.99 + .54 (9%) tax = 6.53.	3	0	3	6.53	19.59	
а	Chairs	Hang chairs on wall. 2 hangers = 4 chairs. \$2.99 ea + .26 tax = 3.25. Per ea.	6	0	6	3.25	19.50	
а	Battery Charger, Solar	Float charger for South site generator battery. Purch by VanDatta. No tax. Per ea	1	0	1	19.34	19.34	

pri ori ty	ITEM	DESCRIPTION Note: Quantities based on three Command Posts. Updated 04/13/2021	Desired Qty	Donate QTY	Buy Qty	Unit Price Incl tax	Total	Sale price
а	Chair, Folding	Lightweight resin w/ metal legs. ICP usage. Per ea. 30% discount \$3.49 ea + tax.	5	0	5	3.82	19.11	
b	Shipping Cost	Northern Tool & Equip. 06/12/14 online order. Per ea. No tax.	1	0	1	18.99	18.99	
а	Padlock Keys	Brea Oil for gates, 2 ea included with container padlock purchase.) Tax included. Per ea. (Container keys no good	24	9	15	1.25	18.75	
а	Vest, Cheap Qual	Hi-vis lime grn for Med Team. Tie closures. \$.95 ea + tax = 1.036. Replaced by better quality 07/18 TAYOUV + separate NTE resistor. Repicmt for solar battery	18	0	18	1.036	18.65	
а	Fuse, Fluke	charger at South site. Per ea. 15.99 + 1.49 (resistor) + tax	1	0	1	17.51	17.51	
а	CERT Forms Books	Book Includes rorms: Dahage Assessiment, Personal Resources, Equipment Resources, Incident Briefing, Post	3	0	3	5.75	17.25	
а	Worklight / Flashlight	27 LED hangup for containers. Item #67227. Coupon price. Per ea. \$2.59 ea + .23 (9%) tax = 2.82. Fintuing 27 sneets tor CERT Mig. \$15.12 + 1.44 (tax) -	6	0	6	2.82	16.92	
b	Printing Charge		1	0	1	16.56	16.56	
b	Wood Shelf	Replacement wood shelf for CERT storage 7/16/2019. \$16.52 Donated by Phillips (invoice not proessed)	1	1	0	16.52	16.52	
а	Gas Can Spout	Replaces broken \$7.49 + tax. Per ea.	2	0	2	8.20	16.40	
а	Bandage, Gauze Roll	"Pac-Kit" 5-6800. 4"w x 5yd long, for 1st aid. Per box of 24 rolls. \$15.00 + 1.39 (9%) tax = 16.35. Free Shipping. Incident Commander's use. Each set includes Pencil Box,	1	0	1	16.35	16.35	
а	Desk Supplies Sets	Pencils, Pens, Sticky Notes, Spiral Notebook, Permanent Marker, Scotch Tape, Scissors, Stapler, Pencil Sharpener.	1	0	1	16.35	16.35	
а	Wash Cloth	Adult, 9"x11" pre-moistened, 48 pack. Item #33286B. Per pack. \$4.99 ea + .45 (9%) tax = 5.44.	3	0	3	5.44	16.32	
а	Wrench	8" adjustable (Crescent type). ICP use. Per ea. Sale price \$4.99 ea + .45 (9%) tax = 5.44. <mark>(1ea stolen, 1ea donated)</mark>	3	1	3	5.44	16.32	Part of S&R Deckreak
р	Gown (PPE)	Impervious, isolation polyethylene, per ea, 5 ea per site.\$2.98 ea +tax = \$3.26 ea. (* limited to 5 per order) impervious, isolation polyethylene, per ea, 5 ea per	15*	0	5	3.26	16.30	
р	Gown (PPE)	Site \pounds $200 \text{ as } 100 \text{ m}$ \pounds 200 sec (* limited to 5 per order)	5*	0	5	3.26	16.30	

pri ori ty	ITEM	DESCRIPTION Note: Quantities based on three Command Posts. Updated 04/13/2021	Desired Qty	Donate QTY	Buy Qty	Unit Price Incl tax	Total	Sale price
p	Gown (PPE)	Impervious, isolation polyethylene, per ea, 5 ea per site.\$2.98 ea +tax = \$3.26 ea. (* limited to 5 per order)	5*	0	5	3.26	16.30	
а	Gas Can Spout	Replaces broken \$7.49 + .655 tax = 8.145. Per ea.	2	0	2	8.15	16.29	
а	Trash Can	Housekeeping, Kitchen Size. (Liners donated) Per ea. \$4.97 ea + .45 (9%) tax = 5.42.	3	0	3	5.42	16.26	
а	Flashlight	Twin pack (2 ea) w/battery. S&R. Per pkg. \$4.97 + .48 (9%) tax = 5.42.	3	0	3	5.42	16.26	Part of S&R Reckneck
а	Batteries	D Cell for megaphones. Pkg of 14. Per pkg. \$14.89 pkg + 1.34 (9%) tax = 16.23. (6 batts stolen, 6 donated)	1	0	1	16.23	16.23	
а	Batteries	AA Cell for 2-way radios. Pkg of 40. Per pkg. \$14.89 pkg + 1.34 (9%) tax = 16.23. <u>New Oct. 2016</u>	1	0	1	16.23	16.23	
р	Hand Sanitizer (PPE)	80% Ethyl Alcohol, 6.76 oz spray bottle, per btl, 1 btl per backpack = 6 btls, \$2.98 btl +tax = \$4.25. Vet Discount	6	1	5	3.23	16.15	
p	Wipes (PPE)	Antibacteria, 5.5x7", box of 80, per box, 1 box per site, \$4.88 box +tax = \$5.34. Vet Discount	3	0	3	5.34	16.02	
р		00% Ethyl Alcohol, 10 02 pump bottle, per bit, 1 bit per site,	3	0	3	5.34	16.02	
b	Shipping Cost	SOS 8/12/13 online order. Per ea. No tax.	1	0	1	16.00	16.00	
а	Generator Wheels	s inch, Solid rubber, steel nub. Replacebroken plastic generator wheels. (no tax from swap meet VanDatta) (Axle	2	0	2	8.00	16.00	
а	Chalk, Railroad	S&R & ICP use, marking status on curbs or doors. 3ea per backpack & 1ea for ICP. \$0.69 + .07 tax = 0.76.	21	0	21	0.76	15.96	
а	Cork Board	Attach to container wall. 1 ea donated. Per ea. \$7.29 ea + .656 (9%) tax = 7.946.	3	1	2	7.946	15.89	
а	Water, 2.5 Gal	2.5 gl bottles. 1 yr shelf life. 2 ea per box \$4.99 + .20 CRV deposit = 5.19. (no tax) Per bx. <mark>Replacd 05/2017</mark>	3	0	3	5.19	15.57	
а	Water, 2.5 Gal	2.5 gl bottles. 1 yr shelf life. 2 ea per box \$4.99 + .20 CRV deposit = 5.19. (no tax) Per bx. Replacd 04/2018	3	0	3	5.19	15.57	
а	Water, 2.5 Gal	2.5 gl bottles. 1 yr shelf life. 2 ea per box \$4.99 + .20 CRV deposit = 5.19. (no tax) Per bx. <u>New 04/2018</u>	3	0	3	5.19	15.57	
а	Gasoline Stabilizer	"Stabil" 32 oz. bottle. annual gas replacement. Per btl. \$13.99 + 1.22 tax = 15.21. New Feb 2017.	1	0	1	15.21	15.21	

pri ori ty	ITEM	DESCRIPTION Note: Quantities based on three Command Posts. Updated 04/13/2021	Desired Qty	Donate QTY	Buy Qty	Unit Price Incl tax	Total	Sale price
а	Tarps	7'4"x9'6". Triage usage. Item #69137. Weather Resistant (Blue). Coupon price. Per ea. \$2.79 + .25 (9%) tax = 3.04. (1 ea donated)	6	1	5	3.04	15.20	\$3.00
а	Megaphone	10W (300 yds) w/siren, 6 D-cell batts not included. (No tax from swap meet Van Datta) Per ea. (Replaces 1ea stolen)	1	0	1	15.00	15.00	\$12.00
а	Masking Tape	T x45yd. ftem #o 1405. Wed/S&R use (T in each toor bag).	2	0	2	7.40	14.80	
а	Water, Bottled	24/.5 liter bottles. 6 mo shelf life. Per case. \$2.49 + 1.20 CRV deposit = 3.69. (no tax) Replaced 12/2017	4	0	4	3.69	14.76	
b	Shipping Cost	EDS 6/23/13 online order. Per ea. No tax.	1	0	1	14.73	14.73	
b	Printing Charge		1	0	1	14.72	14.72	
b	Shipping Cost	SOS 6/23/13 online order. Per ea. No tax.	1	0	1	14.15	14.15	
b	Shipping Cost	SOS 06/20/18 Vests/emerg mylar blankets. Per ea.	1	0	1	13.98	13.98	
а	Work Gloves	Split leather. Item #66287. ICP/Medical set up, (lessons learned $4/25/15$). Per pkg (5 pair per pkg). 2 pkgs (20% coupon) @ $6.39 + .58$ (9%) tax = 6.97. (one pkg donated	3	1	2	6.97	13.94	
р	Shipping Cost (PPE)	SOS 12/29/2020 1st online order. Per ea. No tax.	1	0	1	13.64	13.64	
b	Shipping Cost	SOS 08/17/18. Red infectious waste bags. Per ea.	1	0	1	13.13	13.13	
а	Gasoline Stabilizer	"Stabil" 32 oz. btl.annual gas replace. New 03/2018	1	0	1	13.11	13.11	
а	Tool Box	"Ammo Box" for storing <mark>2ea</mark> two-way radios at CERT Sites. Per ea. (\$3.00 off) \$3.99 + .38 tax = 4.37.	3	0	3	4.37	13.11	not for Sale
р	Box, storage for PPE	Latching plastic w/ lid, 64 QT, per ea, 1 ea per site, \$8.98 ea +tax = \$9.83 ea. Vet Discount	3	0	3	4.37	13.11	
а	Pry Bar, Flat	15 inch. Item #2529. S&R. Sale price, reg 3.49. Per ea. \$2.00 + .18 (9%) tax = 2.18. (2ea stolen, 2ea donated)	6	0	6	2.18	13.08	Part of S&R Reckneck
а	Nitrile & Vinyl Gloves	Nitrile & Vinyl Gloves, S&R use, 2 pkg per back pack.10 gloves in pkg. Per pkg. \$1.00+.09 (9%) tax = 1.09.	12	0	12	1.09	13.08	
а	Paper (shop) Towels	Shop towel rolls. Pkg of 6. Per pkg. \$11.98 pkg + 1.08 (9%) tax = 13.06.	1	0	1	13.06	13.06	

pri ori ty	ITEM	DESCRIPTION Note: Quantities based on three Command Posts. Updated 04/13/2021	Desired Qty	Donate QTY	Buy Qty	Unit Price Incl tax	Total	Sale price
а	Batteries	D Cell for flashlights. Pkg of 8. Per pkg. \$11.98 pkg + 1.08 (9%) tax = 13.06. <mark>(8 batts stolen, 8 donated)</mark>	1	0	1	13.06	13.06	
а	Gasoline		1	0	1	13.05	13.05	
а	Duct Tape	212.07u.*1uen1#81442.*3&⊼ 13e^[tessonsFeanle14/20/10].	1	0	1	13.05	13.05	
а	Aspirin	325mg, 50/btl \$3.99+.36 tax=4.35 Per btl. Oct 2016	3	0	3	4.35	13.05	
а	Ibuprofen	200mg. 50/btl \$3.99+.36 tax=4.35. Per btl. Oct 2016	3	0	3	4.35	13.05	
а	Motor Oil	Command Post Sites Generators. Per qt. \$3.99 qt + .36 (9%) tax = 4.35.	3	0	3	4.35	13.05	
а	Pliers	8" slip-joint. ICP use. Per ea. \$3.99 ea + .36 (9%) tax = 4.35. <mark>(1ea stolen, 1ea donated)</mark>	3	1	3	4.35	13.05	
а	Toilet Paper	Biodegradable Toilet Tissue Item #33293. Per roll. \$.79 ea + .07 (9%) tax = .86.	15	0	15	0.86	12.90	
b	Shipping Cost	SOS 09/29/15 "CERT" backpacks and S&R 1st aid kits. Per ea. No tax.	1	0	1	12.67	12.67	
а	Hammer, Framing	ICP or S&R Use. Per ea. 2ea @ \$5.00. 1ea @ \$2.00. Ave Price 4.00.	3	0	3	4.00	12.00	Part of S&R Beekneek
а	Badge Holder	Honzontal. worn by ICP team to ID members. Per pkg (10 ea per pkg). \$5.49 + .495 (9%) tax = 5.985. 20 ea total on band	2	0	2	5.985	11.97	
b	Inkjet Refill	HP 74XL. Cost new \$37.00. \$10.49 ea + .94 (9%) tax = 11.43. Per ea.	1	0	1	11.43	11.43	
а	Ibuprofen	200mg tablets. Discount 1.50 per btl. (Total disc \$4.50 for 3 btls). \$3.49 per btl + .31 (9%) tax = 3.80. Per btl.	3	0	3	3.80	11.40	
а	Generator Wheels	wheels (purch by Bill vanDatta (HF)) for generator wheel base. North Site. Set: 2 ea pneumatic (10 inch) (\$3.69 ea) &	1	0	1	11.38	11.38	
а	Extension Cord	120 Volt, 25' length. AWG #16 gauge. 2 ea donated. Per ea. 10.29 ea + .926 (9%) tax = 11.216. 247.3 ner boules. 6 no snen ne. Per case. \$2.49 + 1.20	3	2	1	11.216	11.22	\$8.00
а	Water, Bottled	$24/.3$ liter bottles, o mo shell life. Per case, 52.49 ± 1.20	3	0	3	3.69	11.07	
а	Water, Bottled	24/.5 liter bottles. 6 mo shelf life. Per case. \$2.49 + 1.20 CRV deposit = 3.69. (no tax) Replaced 11/2018	3	0	3	3.69	11.07	
b	Shipping Cost	SOS 9/29/13 online order. Per ea. No tax.	1	0	1	11.00	11.00	

pri ori ty	ITEM	DESCRIPTION Note: Quantities based on three Command Posts. Updated 04/13/2021	Desired Qty	Donate QTY	Buy Qty	Unit Price Incl tax	Total	Sale price
а	Water, Bottled	24/.5 liter bottles. 6 mo shelf life. Per case. \$2.45 + 1.20 CRV deposit = 3.65. (no tax) <mark>Replaced 02/2017</mark>	4	0	3	3.65	10.95	
а	Badge Holder	Honzontal. Worn by ICP team to ID members. Per pkg (10 ea per pkg). \$4.67 w/ coupon + .42 (9%) tax = 5.09. 10 ea	2	0	2	5.09	10.18	
а	Badge Holder	Hon2ontar. Worn by ICP team to ID members. Per pkg (10 ea per pkg). \$4.67 w/ coupon + .42 (9%) tax = 5.09. 10 ea	2	0	2	5.09	10.18	
а	Battery Charger,	Float charger for South site generator battery. Some parts	1	0	1	10.00	10.00	
а	Traffic Cones	Full size. (no tax, from swap meet Van Datta) Per ea.	4	0	4	2.50	10.00	
b	Shipping Cost	Taylor Lock, 08/5/15, American A706 Padlock (<mark>Replaces</mark> 1ea stolen/destroyed)	1	0	1	9.90	9.90	
а	Clip Boards	Command Post/Triage Sites. \$1.00 ea + .09 (9%) tax = 1.09. Per ea.	9	0	9	1.09	9.81	\$1.00
n	Clip Boards	Command Post. \$1.00 ea + .09 (9%) tax = 1.09. Per ea. New Sept. 2016	9	0	9	1.09	9.81	\$1.00
а	Gasoline Stabilizer	"Stabil" 16 oz. bottle. annual gas replacement. Per btl. \$8.99 + .81 tax = 9.80. <mark>New Jan 2015</mark> .	1	0	1	9.80	9.80	
а	Magnetic clips	torage container metal walls. Per set, \$2.99 ea + .27 (9%)	3	0	3	3.26	9.78	\$1.00
а	Tarps	⁺ 74 x 2 5 °. πage usage. πem #69137. weatner Resistant (Blue). Coupon price, reg. 4.99. Per ea. \$2.99 + .27 (9%)	3	0	3	3.26	9.78	\$3.00
а	Plastic Container	Clear 16 Qt. storage of drinking cups. \$2.99 ea+.26 tax = 3.25. Per ea.	3	0	3	3.25	9.75	
а	Starting Fluid	Spray can for starting gas generators. \$2.97+ .267 (9%) tax = 3.237. Per ea.	3	0	3	3.237	9.71	
b	Shipping Cost	Uniform Warehouse, Security Vests 10/3/2015 online, Per ea. No tax.	1	0	1	9.70	9.70	
а	Mover's Blanket	80"x72" Haul-Master - Item #66537. Triage usage. Sale price. No super coupons left. Per ea. \$8.49 + .76 (9%) tax =	1	0	1	9.25	9.25	\$8.00
а	Pick Axe	For S&R. \$3.00. Per ea. (no tax from swap meet VanDatta)	3	0	3	3.00	9.00	\$3.00
а	Gas Can Spout	Replaces broken \$7.99 + .72 (9%) tax = 8.71. Per ea.	1	0	1	8.71	8.71	

pri ori ty	ITEM	DESCRIPTION Note: Quantities based on three Command Posts. Updated 04/13/2021	Desired Qty	Donate QTY	Buy Qty	Unit Price Incl tax	Total	Sale price
а	Hand Sanitizer	Liquid 8oz. Per ea. (2 ea at reg price 3.19, 1 ea disc to 1.59.) Avg 2.656 ea + .239 (9%) tax = 2.895	3	0	3	2.895	8.69	
p	Shipping Cost (PPE)	SOS 12/31/2020 2nd online order. Per ea. No tax.	1	0	1	8.64	8.64	
р	Shipping Cost (PPE)	SOS 01/23/2021 3rd online order. Per ea. No tax.	1	0	1	8.64	8.64	
а	Splints	Leg, Cardboard. Item #45780. Per ea. \$1.29 ea + .12 (9%) tax = 1.41.	6	0	6	1.41	8.46	Part of S&R Deckrock
а	Dust Masks	Item #50027. S&R, Triage. 5 masks in pkg (30 total). Per pkg. \$1.29 + .12 (9%) tax = 1.41.	6	0	6	1.41	8.46	
а	Funnels	Flexible funnels to pour oil into generator. Per ea. \$2.49 ea + .224 (9%) tax = 2.714.	3	0	3	2.71	8.14	
b	Printer Paper	Package of 750 sneets. Command Post copies for team	1	0	1	8.06	8.06	
а	Duct Tape	2°\$50\$70.21€6197#67442.52**********************************	2	0	2	3.915 Avg	7.83	
а	Aspirin	81mg, 32/btl. \$2.39+.22 tax=2.615. Per btl. Oct 2016	3	0	3	2.603	7.81	
а	Work Gloves	Split leather. Item #66287. S& R, Triage. 7 pr gloves in pkg. Sale Price. Per pkg. \$6.99 + .63 (9%) tax = 7.62.	1	0	1	7.62	7.62	
b	Shipping Cost	Amazon 11/11/13 online order. Per ea. No tax.	1	0	1	7.24	7.24	
а	Safety Goggles	Item #66538. S&R, Triage. 3 ea in pkg (6 total). Per pkg. \$3.19 + .29 (9%) tax = 3.48.	2	0	2	3.48	6.96	
а	Gasoline Stabilizer	"Stabil" 10 oz. btl.annual gas replace. Veteran 10% discount. New 04/2019	1	0	1	6.88	6.88	
а	Aspirin	325mg, 100 ct btl. Coupon \$1.00, one free btl. Reg 3.99 Tax applied before coupon. Avg \$2.277 Per btl.	3	0	3	2.277	6.83	
р	Alcohol, Isopropyl (PPE)	70%, 32oz bottle, per ea, 1 ea per site. \$1.99 +tax = \$2.19 btl.	3	0	3	2.18	6.54	
а	Wipes, Hand	Huggies baby wipes. S&R use, 1 pkg per back pack. 16 wipes in pkg. Per pkg. \$1.00 + .09 (9%) tax = 1.09.	6	0	6	1.09	6.54	
а	Screwdriver	4 tips in one handle. ICP use. Per ea. Sale price \$1.99 ea + .179 (9%) tax = 2.169. (1ea stolen, 1ea donated)	3	1	3	2.17	6.51	Part of S&R Reskreak
а	Silicone Lube	Spray can for lubricating storage container door seals. \$5.97+ .53 (9%) tax = 6.50. Per ea.	1	0	1	6.50	6.50	

pri ori ty	ITEM	DESCRIPTION Note: Quantities based on three Command Posts. Updated 04/13/2021	Desired Qty	Donate QTY	Buy Qty	Unit Price Incl tax	Total	Sale price
а	White Grease	Spray can for lubricating storage container door hinges. \$5.97+ .53 (9%) tax = 6.50. Per ea.	1	0	1	6.50	6.50	
а	Tie down strap	Rubber. Attach to generator to hold 80 ft extension cord. Per ea. \$1.98 + .18 (9%) tax = 2.16.	3	0	3	2.16	6.48	
а	Splints	Arm, Cardboard. Item #45725. Per ea. \$.99 ea + .09 (9%) tax = 1.08.	6	0	6	1.08	6.48	
b	Labels	1/2" x 1 3/4".containers/radios. \$5.69 ea + .51 (9%) tax = 6.20. Per pkg.	1	0	1	6.20	6.20	
а	Rope	Poly 1/4 inch x 50 feet. Item #90760. Reg \$4.99. Triage. Per ea. \$1.89 + .17 (9%) tax = 2.06.	3	0	3	2.06	6.18	
а	Splints	Hand & Wrist, Cardboard. Item #45700. Per ea. \$.91 ea + .08 (9%) tax = .99.	6	0	6	0.99	5.94	
а	Rope	Poly 1/4 inch x 50 feet. Item #90760. Triage site. Per ea. \$1.79 + .16 (9%) tax = 1.95.	3	0	3	1.95	5.85	
а	Work Gloves	Split leather. Item #66287. S& R. 5 gloves in pkg. Sale Price 6.99 plus 25% off coupon. Per pkg. \$5.24 + .47 (9%) tax = 5.70.	1	0	1	5.70	5.70	
b	Display Items	For Picnic. Photo frames (4 ea), Black Foam Board (1 ea). \$1.00 ea + .09 (9%) tax = 1.09. Per ea.	5	0	5	1.09	5.45	
а	Rope	3/16 inch x 100 feet. To be cut for tie down of canopy legs to weights. Per ea. \$4.97 + .44 (9%) tax = 5.41.	1	0	1	5.41	5.41	
а	Gasoline Cans	5 gal. Command Post Sites (no tax from swap meet Van Datta) Per ea.	1	0	1	5.00	5.00	
а	Gasoline Cans	2 gal. Command Post Sites (no tax from swap meet Van Datta) Per ea.	1	0	1	5.00	5.00	
а	Gasoline Cans	T gai. Command Post Siles (no tax nom swap meet van	1	0	1	5.00	5.00	
b	Labels	2"x 4". containers. \$4.49 ea +.40 (9%) tax = 4.89. Per pkg.	1	0	1	4.89	4.89	
а	Aspirin	81mg, orange chewable. (3 bottles per pkg) Discount \$1.10. \$4.39 per pkg + .40 (9%) tax = 4.79. Per pkg.	1	0	1	4.79	4.79	
а	Hydrogen Peroxide	32oz btl Per ea. (1 ea at reg price, 2.19, 2 ea discounted to 1.09.) Avg 1.46 ea + .13 (9%) tax = 1.59	3	0	3	1.59	4.77	
а	Padlock Keys	Replacement keys for oil site gate locks. \$2.17+ .20 (9%) tax = 2.37. Per ea.	2	0	2	2.37	4.74	
а	Generator Wheels	Wheels for the generator wheel base. South Site. Pneumatic 10". (no tax swap meet Van Datta) Per ea.	2	0	2	2.00	4.00	

pri ori ty	ITEM	DESCRIPTION Note: Quantities based on three Command Posts. Updated 04/13/2021	Desired Qty	Donate QTY	Buy Qty	Unit Price Incl tax	Total	Sale price
а	Work Gloves	Split leather. Item #69455. S& R. Sale Price, reg 4.99. Per pr. \$1.79 + .16 (9%) tax = 1.95.	2	0	2	1.95	3.90	
а	Athletic Tape	1 1/2 inch. \$1.00 per roll + .09 (9%) tax = 1.09. Per roll.	3	0	3	1.09	3.27	
а	Elastic Bandage	3 inch. \$1.00 ea + .09 (9%) tax = 1.09. Per ea.	3	0	3	1.09	3.27	
а	Medium Bandage	2x4 inch. Self Adhering. Box of 10 ea. \$1.00 per box + .09 (9%) tax = 1.09. Per box.	3	0	3	1.09	3.27	
а	Clip Boards	Command Post. \$1.00 ea + .09 (9%) tax = 1.09. Per ea.	3	0	3	1.09	3.27	
а	Dry Erase Boards	Command Post. \$1.00 ea + .09 (9%) tax = 1.09. Per ea.	3	0	3	1.09	3.27	
а	Power strip	Electric power strip, 2 ea donated. Per ea. Sale price \$3.00 ea + .27 (9%) tax = 3.27.	3	2	1	3.27	3.27	
b	Business Card Holder	For Picnic. Holders CERT business cards. 2 ea in box \$2.99 per box + .28 (9.26%) tax = 3.27. Per box.	1	0	1	3.27	3.27	
а	Bags, Ziploc	Extra large, storage of drinking cups. \$2.99 ea+.27 tax = 3.26. 9 ea per pkg.	1	0	1	3.26	3.26	
b	Shipping Cost	B&H Photo-Video for Motorola NICD (#MO53615) replacements for 2-way radios Per ea.	1	0	1	3.25	3.25	
а	Sand	50lb. Filled containers for canopy tie-down. Per bag \$2.94 + .27 (9%) tax = 3.21. (3 bags donated by Jim)	4	3	1	3.21	3.21	
а	Dividers	3-ring folder dividers ("filler paper"). Incident Cmdr. \$0.97 ea + .09 (9%) tax = 1.06. Per pkg.	3	0	3	1.06	3.18	
b	Printing Charge	Printing 26 sheets for CERT Mtg. \$2.86 + 0.27 (tax) = 3.13. Per job.	1	0	1	3.13	3.13	
р	Bags, Plastic Storage (PPE)	One Gallon Slider bag to store PPE gowns individually, per box, 15 bags per box, \$2.50 box +tax = \$2.74.	1	0	1	2.74	2.74	
а	Spiral Notebook	Command Post/Triage Sites. Administration Lead use. \$0.82 ea + .07 (9%) tax = 0.89. Per ea.	3	0	3	0.89	2.67	
а	Permanent Markers	Command Post. 4 per pkg. \$1.00 ea + .09 (9%) tax = 1.09. Per pkg.	2	0	2	1.09	2.18	
а	Pencils	Command Post. 16 per box. \$1.00 ea + .09 (9%) tax = 1.09. Per box.	1	0	1	1.09	1.09	
а	Ball Pens	Commanu Fost. ο μει μκy. φτ.ου ea + .υθ (θ //) ιαλ – τ.υθ. Ποκ κίκα	1	0	1	1.09	1.09	
а	Scissors	S&R use in tool bag. \$.99 + tax. Per ea. 5ea free	6	5	1	1.08	1.08	

pri ori ty	ITEM	DESCRIPTION Note: Quantities based on three Command Posts. Updated 04/13/2021	Desired Qty	Donate QTY	Buy Qty	Unit Price Incl tax	Total	Sale price
						Total	1.08	
а	Storage Bldgs	For Triage Sites. Per ea. (Donated by Brea Canon Oil)	3	3	0	9000.00	0.00	
b	Banner	Banner for Canopy, "PDAW CERT". Donated by Phillips. Per ea.	1	1	0	70.00	0.00	
d	Folding Stretchers	250 lbs, eight reinforced handles. Per ea. (3 ea may have	3	3	0	32.98	0.00	
а	Folding Cot	"Lounge Chair" tri-fold for patient convenience. Donated by Maria Merritt. Estimated \$25 ea. Per ea.	3	3	0	25.00	0.00	\$20.00
а	Hot Packs	Dynalex Instant Hot Pack, o inches A 9 inches, 24-count	3	3	0	21.04	0.00	
а	Triage Tags	Tags for victims (green/yellow/black/red). Made from shipping tags. Donated by T. Kelly & prep by Venest	120	120	0	20.00	0.00	
а	Traffic Cones	Full size. (Donated by Jim P.) Per ea.	2	2	0	15.00	0.00	Not for Sale
а	Brooms	Housekeeping (3 ea donated) Per ea.	3	3	0	11.00	0.00	
а	Padlocks	Triage Sites Gates. Per ea. (Property of Brea Oil)	3	3	0	10.00	0.00	
а	Generator Wheel Base	Wheel base for generator (Fab & donated by VanDatta). All Sites. (1ea stolen, not replaced) Per ea.	3	3	0	10.00	0.00	
а	Generator Maint Fuel Canister	Fabricated device for supplying fuel for maint. without adding fuel to tank. (Donated by VanDatta) Per ea.	1	1	0	10.00	0.00	
а	Gas Can Spout	Replaces broken 7.49 + .67 (9%) tax = 8.16. Per ea. Donated by Jimmie Mitchell	1	1	0	8.71	0.00	
а	Gauze Compress	4x4 Sterile. Per box of 100.	9	9	0	8.00	0.00	
а	Knife Blades	Extra blades for lock back knife. Item #60573. S&R. Per pkg of 10. (Donated by Jim P.)	4	4	0	8.00	0.00	Part of S&R Racknock
а	Scissors	For gauze & tape bandages. Per ea.	12	12	0	5.48	0.00	
а	Bandage Tape	Durapore Medical Tape, Silk Tape - 1 in. x 10 yards. Per roll (50 partial rolls donated)	40	50	0	5.45	0.00	
а	Dressing Chg Kit	Dressing Change Kit, Latex Free With Tegaderm For Central Line Dressing Change. Per ea (3ea donated)	3	3	0	5.20	0.00	
а	Generator Wheels	Wheels for the generator wheel base. Central Site. Pneumatic 10" (Donated by VanDatta) (2ea stolen, not	2	2	0	4.02	0.00	

pri ori ty	ITEM	DESCRIPTION Note: Quantities based on three Command Posts. Updated 04/13/2021	Desired Qty	Donate QTY	Buy Qty	Unit Price Incl tax	Total	Sale price
а	Elastic Bandage	Dynarex Elas Bandage, 4 inch. (6 donated) Per roll.	6	6	0	4.00	0.00	
а	Fire Extinguisher	Type A:B:C Triage sites. Per ea.(Donated by VanDatta)	4	4	0	4.00	0.00	
а	Traffic Cones	Small size. Donated by VanDatta from swap meet. Per ea.	3	3	0	3.33	0.00	
а	Magnetic hooks	Magnetic hook set (3 per set) to hang worklight & extension cord on storage container metal walls. Per set. \$2.99 ea +	3	3	0	3.26	0.00	
а	Dust Pan	Housekeeping (3 ea donated) Per ea.	3	3	0	3.00	0.00	
а	Electric "cube" connector	Electric connector "cubes", 3 connectors, 3 ea donated	3	3	0	3.00	0.00	
а	Rope	Poly 1/4 inch x 50 feet. Item #90760. S&R. Per ea. (Donated by Jim P.)	6	6	0	2.17	0.00	
а	Hydrogen Peroxide	16 ounce bottle. 3 ea donated. Per ea.	3	3	0	1.50	0.00	
а	Garbage Bags	30gl. 8 bags per pkg. \$.99 ea + .09 (9%) tax = 1.18. Per pkg. (3 pkgs donated by Jim)	3	3	0	1.18	0.00	
а	Plastic Container	6 qt. For tools/batteries. 3 ea donated. Per ea.	3	3	0	1.12	0.00	
а	Water, Bottled	24/.5 liter bottles. 6 mo shelf life. Per case. \$2.99 +1.20 CRV = \$4.19. Donated by Phillips, Replaced 05/2019	3	0	3	0.00	0.00	
а	Water, Bottled	24/.5 liter bottles. 6 mo shelf life. Per case. \$2.99 + 1.20 CRV = \$4.19. Donated by Phillips, New 05/2019	3	0	3	0.00	0.00	
а	Gasoline	Generators. (Total \$96.21) Per gal. Replaced by Phillips. (03/2017)	34	34	0	0.00	0.00	
а	Hard Hats	White, 5 ea donated by Jorge. Painted grn by Jim/Bill	5	0	5	0.000	0.00	
а	Screwdriver Set	6 pc set. ICP & S&R use. Free w/ coupon. reg. 4.99. Per set. (1ea stolen, 1ea free)	9	9	0	0.00	0.00	Part of S&R Decknock
а	Large Compress	Dynarex Abdominal Pad 8 X 10 Sterile (6 pads donated.) Per ea.	6	6	0		0.00	
а	Gauze Sponge	3x3 Non-steril. Per bag of 200 (3bags donated)	3	3	0		0.00	
а	Surgical Gloves	Command post/triage site usage. Per Pair.	100	100	0		0.00	
а	Steri Strips	Use in place of stitches. Per pkg of 10 ea (12pkgs donated)	12	12	0		0.00	

pri ori ty	ITEM	DESCRIPTION Note: Quantities based on three Command Posts. Updated 04/13/2021	Desired Qty	Donate QTY	Buy Qty	Unit Price Incl tax	Total	Sale price
а	Petrolatum Dressing	Apply to wound. Per pkg. (40pkgs donated)	40	40	0		0.00	
а	Hand Control Mitten	Immobilize hand. Per ea. (3ea donated)	3	3	0		0.00	
а	Servical Collar	Immobilize injured neck. Per ea. (3ea donated)	3	3	0		0.00	
а	Large Bandage	3x6 inch. Self Adhering. 14 ea donated. Per ea.	14	14	0		0.00	
а	Lg Drain Pads	9 ea donated.	9	9	0		0.00	
а	Hold-in-place	Velcro strap. Various uses. Per ea. (10ea donated) Cannot find online.	10	10	0		0.00	
2	Additional 1st Aid Supplies	Need to prioritize	3	0	3	TBD		
0	Bottlo Jacks	S&R for jacking heavy objects	3	θ.	3	TBD		
0	Police Scanner	-to moment emergency connect. Low priority. Lot. Fride. For	4	0	4	300.00		
0	Generator	Gasoline. 800 Watt. Sale price. (Backup/day time use) Lew- priority. Per ca. Deleted Gas must be mixed	\$	ф	3	89.99		
1	∟arge Whiteboard &	Attach to storage container interior door (when opened) to provide situational awareness of the incident to all	3	0	3	50.00		
0	Wator Purifior	For ICP use. Low priority. \$30 50? Por oa.	3	0	3	50.00		
0	Padlocks, Siron- Alarmed	Vender TBD, keyed alike, for Site Containers door handle. 4ea per pkg. \$115.00 (approx) Per pkg	÷	θ.	3	50.00		
а	Cups, Drinking	ICP use, 10 oz, 360 ea. Donated by Ted Rubentein	300	360		10.00		
-		Quantities based on use at three ICP sites.						
⊢	LEGEND	ענעמונענט אמשבע טון עשב מג עווכב וטר שונט.						
-	SOS =	SOS Survival Products: http://www.sosproducts.com						
⊢	EDS =	EDS: http://www.emergencyanddisastersupplies.com						
	HD =	Home Depot						
	HF =	Harbor Freight						
F	OSH =	Orchard Supply Hardware						
⊢	B&H =	B&H Photo-Video, New York, NY						
	Fry's =	Fry's Electronics						
	Northern Tool=	Northern Tool & Equipment, Burnsville, MN						

pri ori ty	ITEM	DESCRIPTION Note: Quantities based on three Command Posts. Updated 04/13/2021	Desired Qty	Donate QTY	Buy Qty	Unit Price Incl tax	Total	Sale price
	Taylor Lock =	Taylor Security & Lock, Gaithersburg, MD						
	Amzn =	Amazon.com						
	OReilly =	O'Reilly Auto Parts						
	United =	United Oil Gasoline						
	Uniform Whse=	Uniform & Accessories Warehouse, Chatsworth, CA						
	Big Lots =	Big Lots Stores						
	Major Surplus =	Major Surplus & Survival, Gardena, CA						
	Wlmrt =	Walmart Stores						
	Walgr =	Walgreens Stores						
	Lowes	Lowes Building Supply						
	Tarps Direct =	Harpster-Canopies (Tarps Direct), Philipsburg, PA						
	Savers =	Savers Discount Store, Torrance, CA						
	LA City =	LA City Dept of Recreation and Parks						
	Staples =	Staples Office Equip						
	Target =	Target Store						
	=	To Be Determined						
	Pri Col Number	Priority for procurement, 1st to last						
	Pri Col "a"	No further procurement required at this time						
	Pri Col "b"	Shipping costs, misc.						
	Pri Col " <mark>red</mark> "	Low Priority						
	Pri Col "d"	Procured/Donated prior to 2013						
	Pri Col " <mark>n</mark> "	New procurement/donation						
	Pri Col "p"	Personal Protection Equipment (PPE)						
	Pri Col <mark>"0"</mark>	Deleted						